EARAROBEEIERT — 2 N— IBISH —F

201651 A5H () 1EF1A

KW r>%4m%tE 500ATF

(5] T8

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[~E4] 1% :7,500,000 @ ~ 23 :3,000,000MH ~ 3i&:

1,900,000 .~ 4 & :1,100,000 M

/53 750,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
$7570-5 4 5 5FS-O’\“U— 1:11.6 2-2 37.5|93.9 | 1 526 ‘%%ﬁﬁ!é%iﬁ) B
. _ 507 —
L:¥xrindaOo— B:HI5ICTLZR ) (+6) BEZ Ly b
$H55 50— L 5 gﬁgﬂﬁt 1(:11.§s 2-2 37.6|94.0 | 9 512 %§§§<(§5§) N
- gE g 5av—
R:HISTLIFL N BiHIIRM— %X (-8) 1REE B9
S L IN Y — NI i o4 ;{LE%?!Q% 1(:11/12.>7 1-11 | 36.6| 93.5 | 11 | 456 g%gg (i)
QRS pYIEeE BTITU—SZv R preayees
LAY v —J # 5 fsﬁ%ﬁ 1:(111).9 77 |87.3| 914 | 7 | 502 gi;_(%ﬁ)
RiTHAFYU S r—Ib BANLES RUKS 2 ek a%
SELITHH it 5 ;55_5(3)% 1(:31/;4.)0 8-8 37.2090.5 | 12 | 434 %gﬁgﬁ (E#)
RYIRTTTR AT NAL 14| oy
Hix—4 o4 Eé’éﬁéﬁ* (1:12.0) 6-4 37.6| 90.3 | 5 516 fﬁ;ggﬁgrsré%ﬁ)
o TR =R R
QAT AT BiUAyF ’ M4 Kris
718l15| AXHF -3 # 5 | AR 112 88 |9r.2| 905 | 6 | S0 | FEE Ced)
L ANFRTNY BiATAE O e
slgligl®@715—1 4 5 %%IE% 1:(112).2 15-15 | 36.7| 89.0 | 3 fze) i}ﬁgﬁ ()
R:707% B:XNSCT—ILR tE BF
9 7| A==t 13— [B] # 5 ;%U(J)MA 1(:11/22.>3 13-13  [36.9| 88.0 | 4 | 498 E’ﬁ%i (=)
QT KTk By KA ) a4
10kl 6| EXAXT > 5 | KRLES 1(/1\2ﬂ3 15-16 | 36.7 | 88.1 | 14 | 500 %E%{A (%#)
R:id—IWRPYa2—b B:AY/XF10—) © KIFEBHS
il1lq 1 p1=s7 #o4 | pEs 171%:4 11-11 [37.3] 86.9 | 10 | 494 fggﬁ;_ﬁiﬁ)
L:d—IR7Y2—)b B:Ov774—F+4 (+14) ZAN 7 S
12| 7)14| 7>/ %> 94 4 [B] o4 | A w2 13-13 | 37.4| 84.2 | 15 <i§§> %i;ﬂ%ﬂfﬁ— ()
YRG5 B:L—XIZAMLZR hilkse)
13110 F=—d>=u7 fo 4 | RE 1(1\3)7 -1 387|849 | 8 | 452 ﬁg?;?iﬁ)
QT ETAHAY—> BIATEIUT 0 i 1
ulslg| 715151% i 5 SF%?E#M 1(712&7 4-4 38.4| 84.5 | 16 | 490 ’r_’ﬂ’/%%f )
R:d—IWRFPY2— B:X4—FTF77Uh ) RESS
15/ 51| A TNy E— it 4 gﬁ%%ﬁi 1:(112>.9 4-4 38.6| 82.9 | 13 | 432 Eggﬂé (E8)
ALy TFIE B:a-7Ya2UIv b -4 e Hs
" BEEEIES: # 5 @%ix 1:(163).9 8-8 |39.1| 746 | 2 | 468 E(g?éé%;ﬁ)_\/_://j
$2:Danehill Dancer &:1) vy x> (10 5
@ 71 L
) 49.0-37.6
NA>ZA L | 11.9-10.7-11.4-12.4-12.4-12.8
® I —F—@EBIERL
|2=3F=
230—7F—
ga=7"= (x2,8,12) (9,10)5,11(3,4,15)-(1,13) (7,14) (6,16)
43—7F— | (x2,8,12)(5,9,10)11(3,4,15) (1,13) (7,14)16,6
[ N3
H OB 12 360M 714K 8-12 2,600 e E 4-6 1,230M JEHE 8-12-13 54,9901
8 B 12 200 12-13 2,690M B = 8-12 8,550 B 12-8-13 213,840
8 880 8-13 8,810 | | /5 B 12-8 11,310/
13 880F

ABICOVWTRDTEEERROODE. TR LIV,




